Parental Risk Factors

| How much each of the following disapprove if you were to smoke cannabis?

Disapprove Disapprove Disapprove Would not No Such
Extremely Very Much Disapprove Slightly Disapprove Person
Ea)]Yourfather [ ] [ ] [ ] [ ] [ ]
(b) Your mother [ ] [ ] [ ] [ ] [ ]

[ ]

(c) Your brothers/

E%is]ters [ ] [ ] [ ] [ ] [ ]
(d) Other people

i[n i/ourfamily [ ] [ ] [ ] [ ] [ ]

| How much each of the following disapprove if you were to take ecstasy?

Disapprove Disapprove Disapprove Would not No Such
Extremely Very Much Disapprove Slightly Disapprove
Person

(e) Your father[ ] [ ] [ ] [ ] [ ] [ ]
(f) Your mother [ ] [ ] [ ] [ ] [ ]

[ ]

(9) Your brothers/

[sis]ters [ ] [ ] [ ] [ ] [ ]
(h) Other people

i[n i/ourfamily [ ] [ ] [ ] [ ] [ ]

| How much each of the following disapprove if you were to use solvents?

Disapprove Disapprove Disapprove Would not No Such
Extremely Very Much Disapprove Slightly  Disapprove Person

(i) Your father[ ] [ ] [ ] [ ] [ ] [ ]
(i) Your mother [ ] [ ] [ ] [ ] [ ]

[ ]

(K) Your brothers/

fis]ters [ ] [ ] [ ] [ ] [ ]
() Other people

i[n i/ourfamily [ ] [ ] [ ] [ ] [ ]

Calculation of Indices: The procedure for calculating indices of approval, are

precisely the same as those involved in the case of peers (see above). Obviously,
where a respondents indicates that no such person exists, the item might be treated as
missing, or a separate analysis carried out for those who indicate that this is the case.




